
Esercizio 1 

 

Indietro 

 

Esercizio 2 

 

W = 
𝜇𝑚𝑔𝐿0

2
 

1−𝑐𝑜𝑠(𝜗)

(𝑠𝑖𝑛(𝜗)+𝜇𝑐𝑜𝑠(𝜗))𝑐𝑜𝑠(𝜗)
 = 0,09J 

 

Esercizio 3 

 

W = −
𝜇𝑚𝑔𝐿𝑠𝑖𝑛(𝜗)

𝑠𝑖𝑛(𝜗)−𝜇𝑐𝑜𝑠(𝜗)
 

 

Esercizio 4 

 

a)   V = 
𝑚1𝐯1+𝑚2𝐯2

𝑚1+𝑚2
 

 

Esercizio 5 

 

K = 
1

2
 

𝑚1𝑚2

𝑚1+𝑚2
 (𝐯1 − 𝐯2)2 

 

Esercizio 6 

 

Si muove 3 volte avanti e indietro, avendo velocità = 0 nei punti di compressione 

della molla tali che 
Δ𝑥

𝜇𝑚𝑔/𝑘
 = -12 (inizio), +10, -8, +6, -4, +2, 0 (fine del moto) 

 

Esercizio 7 

 

a) K = (M/2+2m) v2 

b) t = (M/2+2m) v2/P 

c) x = 
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 √
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Esercizio 8 

 

V = 2√𝜋𝑔𝐿 

 

Esercizio 9 

 

y = √
2𝐹

𝜆
  t  -  

𝑔

4
  t2 

 

 

 



Esercizio 10 

 

WTOT =
𝑚
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Esercizio 11 

 

𝐹 > √2 𝑚𝑔 

 

Esercizio 12 

 

VP ≈ 167 Km/h 

 

 

 


